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S RE = (t-C02) (t-C02) (t-C02)

45EH (a) (b) (%)
2 |FMERTIERXSH 2 4| 5] 7| 3 6, 658 6, 536 6,793 & | 3.10%
7 [migalmgRat 2 4| 5] 9|5 19, 092 19, 092 23,841 B | 11.9%
10 [T/ FA—IR 3 4| 5 8| 4 2,863 2,863 2,806] 2.0%
13 [Ersimztast 2 4| 5] 9|5 330,650 330,647 314,653 = 4. 8%
18 [HR_RFHETIS 2 4 5 10| 6 57,551 51,387 42,831 # | 25.0%
3B [Rrv=vrzro—HAes 2 4| 5] 7|3 21, 289 21, 289 of # | 61.0%
38 |mEERIEHRXSH 2 4|5 7| 3 19,130 19,130 18,556] = 3.0%
39 |mEEHKXSH 1 4 5 ] 5| 1 294 293 289 1. 0%
61 |[EehmkE 3 4| 5 7| 3 5, 406 5, 406 5280 & | 17.5%
63 |[EREEAEEKRE 3 4 5 7| 3 28, 835 28, 835 27,531 =& 4. 5%
65 |[EmaEKISH 2 4 5 7| 3 27,075 27,006 29,588] = 3. 0%
85 |HeitrrIy—<—Fh 3 4| 5] 9|5 6,038 5,942 5761 = 3. 0%
92 [EREARBZE 3 4] 5] 9|5 4,764 4,764 4,527 #E 5 0%
96 |[HeHU I Fya—RL—S 3> 2 45 7| 3 15, 718 14,876 14,496]  #F 3.0%
100 |7544 F5%9r TF9—8vUavaoEARM 2 45 7| 3 3,005 3, 005 795 # | 73.5%
110 |[EFrE7HSH 2 4|5 7| 3 61, 754 61, 754 59,902| = 3.0%
M [ULRA - ZRS v LT L - SvRUlREH 2 4] 5] 9|5 5 613 5 613 4,501 #E 2.0%




